ASSIGNMENT 1 TEXT QUESTIONSPRIVATE 

#3.11
Of 10,000 students at a college, 2,500 have a Mastercard (M), 4,000 have a VISA (V), and 1,000 have both.

a)
Find the probability that a randomly selected student


1)
has a Mastercard


2)
has a VISA




3)
has both credit cards

b)
Construct and fill a contingency table summarizing the credit card data.  Employ the following pairs of events:
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c)
Use the contingency table to find the probability that a randomly selected student


1)
has either a Mastercard or a VISA


2)
has neither credit card


3)
has exactly one of the two credit cards.

#3.12
The card game of Euchre employs a deck that consists of all four of each of the aces, kings, queens, jacks, tens, and nines (one of each suit - clubs, diamonds, hearts, spades).  Find the probability that a randomly selected card from a Euchre deck is

a)  A jack (J)

b)  A spade (D)
c)  A jack or an ace (A)
d)  A jack or a spade

e)  Are the events  J and  A  mutually exclusive?   J  and  S ?  Why or why not?

#3.14
In the book "Essentials of Marketing Research", William R. Dillon, Thomas J. Madden, and Neil H. Firtle  present the results of a concept study for a new wine cooler.  300  consumers between  21  and  49  years old were randomly selected.  After sampling the new beverage, each was asked to rate the appeal of the phrase


Not sweet like wine coolers, not filling beer, and more refreshing than wine or mixed drinks

as it relates to the new wine cooler.  The rating was made on a scale from  1  to  5, with  5  representing  "extremely appealing" and with  1  representing "not at all appealing.

#3.22
Fifteen percent of the employees in a company have managerial positions, and 25% of the employees in the company have MBA degrees.  Also, 60% of the managers have MBA degrees.  Using the probability formulas,

a)
find the proportion of employees who are managers and have MBA degrees.

b)
Find the proportion of MBAs who are managers.

c)
Are the events  being a manager  and  having an MBA  independent?  Justify your answer.

#3.23
In exercise 3.22, find the proportion of employees who either have MBAs or are managers.  

#3.27
A sprinkler system inside an office building has two types of actibation devices,  D1  and  D2,  which operate independently.  When there is a fire, if either device operates correctly, the sprinkler system is turned on.  In case of fire, the probability that  D1  operates correctly is  .95  and the probability that  D2  operates correctly is  .92.  Find the probability that

a)
Both  D1  and  D2  will operate correctly.

b)
The sprinkler system will come on.

c)
The sprinkler system will fail.
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